— \%/\@ =1 fa vier Briiche, Dezimalstellen, Reihenfolge der
§:-1 =0T & Operati
< perationen
Name: Datum: Ergebnis:
1 1 1 1 1 1
=+ =-x3-10x ==+5= —— 10X =+2+2x - =
2 5 3 2 2 6

1 3 1 3
58— _+3x 2= 3—-12x —+4+4x = =
0T 5 TN 3 3
4, 7+5,4x4+2,3= %+20x§+4—4x—=

1 3 1
2,6+2,9+3x — = 5 TS T7—ax =
5 5 3 2 ? 5
32—1+2><23— 33+1—3><27—
s 2 ” ’ 2 i
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m— .%/i\@ % %ﬂ vier Briiche, Dezimalstellen, Reihenfolge der

q ! Operationen
Name: Datum: Ergebnis:
1 1 1 13 1 1 1 5 2
—+=-x3-10x =+5=— —— 10X =+2+2x —=(—2)=(—1=
2 5 3 30 2 2 6 (3) ( 3)
1 3 71 1 1 3 42 2
58 == F3x —-=—=7— 3- 12X =+4+4X — = — =8=
’ 2 5 10 10 5 2 5 5
143 3 2 3 I 7 1
4,7+54x4+2,3=—=28-— —+20X =+ 4—4x = - =2
’ ’ ’ 5 5 3 5 3 3 3
1 61 1 3 I 32 2
2,6+2,9+3x -=— =6— —+5,7—-4x - =— =6
’ ’ 5 10 10 2 ’ 5 5 5
1 73 3 1 43 3
3,2—=+2%x23=—=7— 33+—--3x2"7=(——)=(-4—
’ 2 ’ 10 10 ’ 2 ’ ( 10) ( 10)
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